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iy

1,980
1,980
3,960

rH

iy

1,980
1,980
4,320
2,160
2,160
180,006
90,048
90,048
180,096
90,048
90,048
180,096
180,096
90,048
90,048
51,456

H

iy

H

=

~ M

~ M

25,728
25,728

=

[gd]

30
0B

110y
0
=
1
X0

2y 1

=3

03 MIEHHMEXS

0

307 2120l &

80
OB
0
E
i
=
ol
20

IsZ2 0

ofll

I

307 2120l &

O0el0iMsunad=d

80
ot

E
1o
=
J
<
R0

30
0
ol

0
=
0
KO

307 GI12told

OMEMESX X HHXI

or

il
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SN 2snE
Ha: HSTE
el MSHAILE RN (el:@g
_ _ _ Muo
SA BB H(BH) - MBAY - B2 Ofl Ak 04 il b o HRs2
307 2120/ & 51,456 25,764 25,602
| 25,728
2 25,728
02 UAAMBE 51,456 25,764 25,692
ONZMUHSEEX & 51,456
| 25,728
2 25,728
NENEREER 12,000 7,000 5,000
= 8,500
2 3,500
307 2120/ & 2,000 7,000 5,000
= 8,500
2 3,500
02 QIHABE 12,000 7,000 5,000
OMEASNASANE 2 2,000
= 1,000
2 1,000
O 04 H S S 0t2 X & 5,000
= 2,500
2 2,500
NEREL LSS 5,000
= 5,000
X 5 h 2 7 ALY 6,412 0 6,412
| 3,206
= 1,603
2 1,603
307 212+0| & 6,412 0 6,412
| 3,206
= 1,603
2 1,603
EEREES 6,412 0 6,412
ORIFHH AL 6,412
| 3,206
= 1,603
2 1,603
PRI 730,560 712,560 18,000
| 7,360
= 52,560
2 670,640
MESNERINEE 2,000 2,000 0
301 YstEAS 2,000 2,000 0
12 JIEtB A 2,000 2,000 0
OMSNERIN E& 100,000 * 102 1,000
O DASSIX & 100,000 * 102 1,000
SHERUMESH ALY 16,000 13,000 3,000
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SN 2sBBY
3 FSHE
CHel: MRS LAY R
_ _ _ Muo
SA - BE - BA(EA) - NRAY - BES 0 &t o4 i HREY
| 7,360
i 8,640
301 YptEaazg 16,000 13,000 3,000
Il 7,360
= 8,640
02 ¥st=zdstit= 16,000 13,000 3,000
OSHESYHL T3 16,000
Il 7,360
= 8,640
AFN=E=24 712,560 697,560 15,000
& 52,560
= 660,000
301 YptEazg 712,560 652,560 60,000
& 52,560
= 660,000
1 HstHR - 2SRSELS 712,560 652,560 60,000
oxNFUSE 29 660,000
OM=ZE2Z2E 24 330,000
osgxg 249 330,000
ondzZd MNEY 2AEL=S 52,560
& 52,560
MEIIELAIE =S A Y 6,256,000 4,224,000 2,032,000
& 500,000
Il 2,450,000
= 1,020,000
= 2,286,000
MEHSSA(AEZXEHR2)EH 906,000 2,003,000 A 1,097,000
= 500,000
= 406,000
401 Al&HIZL=ROHYI 906,000 2,003,000 21,097,000
= 500,000
= 406,000
01 Al&H| 900,000 2,000,000 A 1,100,000
OMENSSA(AEZXEI2)THESAM 900,000
= 500,000
= 400,000
03 AIE20bI 6,000 3,000 3,000
OMEBNSZA(ATREIS)EALT AR 6,000
HMSAIE A 2,140,000 977,000 1,163,000
p) 350,000
= 120,000
= 1,670,000
401 Al&HI LR OHYI 2,140,000 837,000 1,303,000
Il 350,000
& 120,000
= 1,670,000




SN S22t
Hu: MsAE
SR MEFIICAILES ALY (&2 &
SH-EH . O3 - MBAY - BAS 0fl AF 08 Soe HRZ2
01 Al&HI 2,140,000 837,000 1,303,000
OsUHMESAEELZ AL 30,000, 0003 *2 1 &~ 60,000
o2sI|7 dXI3At 15,000, 000& *6IH A~ 90,000
OLNEHOIEEH 0lMAIY 400,000
OS4d2SE MEHIAIE &Y 50,000
OSE2SE IHA BT A 200,000
033 2 TS A 200,000
OHEMESH AUAXEC] ZHSAL 800,000
Il 350,000
iy 450,000
OAUMSE NEXSAHE=ANEEIE) 250,000
= 120,000
iy 130,000
OGLLHENANOIESHNMAZAIE S A 70,000
OS2 Y| S Al 20,000
NEHFAE HE 1,105,000 1,204,000 299,000
= 900,000
iy 205,000
401 AEHI Y2 1,105,000 1,204,000 99,000
= 900,000
iy 205,000
01 Al&H| 1,100,000 1,200,000 100,000
09 dINE Zd3At 1,100,000
= 900,000
o 200,000
03 Al&20HYI 5,000 4,000 1,000
O =HINE ZHBAF 20HH| 5,000
SOUXNFHEHAHE 2,105,000 0 2,105,000
J| 2,100,000
o 5,000
401 AlEHIZL L] 2,105,000 0 2,105,000
Jl 2,100,000
iy 5,000
01 Al&HI 2,100,000 0 2,100,000
O=0IXNsHEH HE 2,100,000
J| 2,100,000
03 AlA&20HYI 5,000 0 5,000
O=0UNEFHE HESA 20YI 5,000
HMEAL2H 256,352 344,973 88,621
M= AL 22 256,352 344,973 88,621
101 Q1A H| 59,400 62,213 N2,813
04 JIZtMIZ22NHsSE 59,400 62,213 N2,813
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A 2st2Z
Y HSHE
Cel: MSAE2Y EERE
=] X xH Ctol (3 =] (<3| HAX2 A} OH dEE ot
— T

OHMSAL (S8, 38, dUHS2) 22
o1l 33,0002 * 102 » 1802 59,400
201 Yer2et] 115, 102
01 A2l 12,500
o+ gH| 1,500
OISR X2+ 22l ¢ 2SS 7Y
50,0008 * 105 *43| 2,000
OSEEST XY+ 22| ¥ FASE 7
50,0008 * 105 *43] 2,000
OUUMSE, SHSSY MYJIES 7Y
2,0002!*1,50000 3,000
O2E87, 88 7Y 300,002 *15% 4,500
oyxz 1,000
O SHal 2 et 2|2 Xt 200,0002! +53! 1,000
02 B 102,602
0B2R232 ¥ A 60,200
OMSAE &II23 2,000, 0002 128 24,000
ONMSAE HOI+EASE
1,500,000 » 128 18,000
OMSAE BZHELES 600,008 *122 7,200
OMSAE 2ot s 100
OMSAE 2otEE Y|
1,000, 00021 x27H 2 2,000
OaUMSZ ol 150, 0002 43| 600
OZH2EST AFMDBHD 200,008 13 200
OZESST oNBBAR
50,0002 128 1,800
OUUMSE 2 25T 2L4DI8
100, 0002 33| 300
ONEHSZY 23 L 45t+ZMEE
300,000+ 128 3,600
OSHIMSTEUBSZA HI|23Y
SotEABE 200,000 128 2,400
CIEE] 9,000
ONMSAE(AYNST, SEESH) U2 ([
=) 800 *15 £ *1002 2,700
ozCIZ2l, YHII, SHHH)| o2
1,80021%50 ¢ *303] 2,700
OUUMSZ 422 R0
1,8002!%20 ¢ *1002 3,600
ONEZHIRAH| 33,402
OMWMSZ ASRXIEl  2,0008+2,080m 4,160
OSEESST ASRXEl 2,008 4,471 8,942
OSgesy ompe 3%=
50,0002 128 1,800
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SN 252D
o HMSNS
ool HSAL2Y (el &2
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Off &F oA 0 At of Hlus2
S EEEEEEIEEE
220, 00021+ 122 2,640
OZHSSH AUMSH 2/ZE Bel+48
50,0002 20l A * 128 3,600
OHBHS I MIlQHBE BAR
80,0002 * 128 960
OBHSEE ®IANLBST 6,900
L E: 30,0002 %1007 3,000
—oe oFD 30, 00021 % 1007H 3,000
— &S (36,200) 90, 00021 * 102 A 900
OAUURSZ BIIALBST 3,900
N EEE: 30, 00024 *507H 1,500
—mg ormD 30, 00024 *507H 1,500
— 3 S(36.200) 90, 00024 * 10 A 900
ozCIz2IYl 500
206 W& 5,250 4,750 500
01 T2 bl 5,250 4,750 500
OFCITH 28 5% S H27Y
250, 00021 +10% 2,500
0Z& U VLI =2EE 2, DAY
350, 00024 *5CH 1,750
o2tedl HE Y (BE.ZLSER BEY
SJES) 1,000
307 2I2H0IE 19,200 0 19,200
05 SI2reIEra 19,200 0 19,200
OMSAES T A LE
200, 0002 *87H A * 128 19,200
401 AIZHIL 2O 52,400 189,900 A137,500
01 Al 52,400 89,900 A137,500
OZHSESH ROBABA 10,000
OZHSSHAHCIY U S2 HSDHUTA
50,0002 %1005 5,000
OZHSEST AHCHY HSHE FUIBA
300, 00024 #82H £ 2,400
OAUTISE B U TMBA 10,000
OALHSE ®I| ST 25,000
405 THAHE St 5,000 0 5,000
01 RAUSEH S| 5,000 0 5,000
OZHSESE NEMASI 7Y 5,000
SHHSHE 2 785,626 350,496 435,130
SHHSHERY 475,726 335,506 140, 130
101 @121t 181,371 108, 041 73,330
VIBIEDEESEERS 181,371 108, 041 73,330
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SN 252D
M HSUE
o9 2o HSUH 29 (25l &2
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
O2HSHE ZeloRy 81,135
0J123 33,0002 52 x253% 41,745
ORzEL+Y 33,0002 ¥5 x5221 8,580
Of22R+Y 33,0002 %1, 5+52 542 13,365
O EL+Y 33,0002 ¥5 152 2,475
O4tHE & 7,470
—=oIzEE 66, 165,000+4. 5% 2,978
—MEEE 66, 165, 00021 +3. 1% 2,052
—2OIANYPHE  66,165,0002+2.385% 1,579
—ns=282 66, 165, 00021 +1.3% 861
osx3 1,500, 0002452 7,500
O+ YA 215 99,708
07123 40,9009 *3% #2532 31,044
0403 31,044,002 #4/ 128 10,348
SEESINE 31,044,00024%1/10 3,105
ORzFL+Y 40,9009 +3 ¥522 6,381
OF2a2+y 40,9009 *1.5+32 ¥5421 9,939
ORI+ 40,9002 ¥32 152 1,841
ozl 7,00021 %38 x2521 %122 6,300
Ot Al 5,0002 38§ x252 + 122 4,500
ool 30,0002 %32 » 128 1,080
ONZD2RAL 767023 *35AI2H+122 9,665
o4t & 9,505
—=oIZREE 84,203, 00021 #4. 5% 3,790
—MEEE 84,203, 00021 %3. 1% 2,611
—RORAYPHE(ZIQYELE)
84,203, 00021 2. 385% 2,009
—ns@sa 84,203, 00021 +1.3% 1,09
oL E: 2,000,000 *3% 6,000
OSSHSHEFHHELY
33,0002 %42 43| 528
201 LByl 294,355 226,555 67,800
01 At 18,400 15,400 3,000
osrag| 3,600
O+YH2Y 22 7Y 400,000 +55+23] 4,000
O+ YHSI[NE U NFHA 6002 +5,0008 3,000
OSADI EH 2 AEA  150,0008+122 1,800
OB2AX 7Y 2 N2RSE
10,0002« 105+ 122 1,200
OSSHSHE 2YLRE 7YY
300,000% 122 3,600
o= 4,800
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SA: 23TBY
dH: HEE
@2l ZNSsHH 23 (H:H2)
A BB O(B) - NEAY - BAS Of o e Hl R =2
e ErCECEEEER
200,000& *23| x12H 4,800
02 2223H| 275,955 211,155 64,800
0332= & AMA 82,440
O=g% dIIL=s 3,200,000& = 12& 38,400
Ox=ZH o= AE2Z  2,700,000& 123 32,400
O=gd 2otz9d| 180,000& x12& 2,160
O+2% BIQHVINBR
300,000& =12& 3,600
Ox=ZE Agotd H3lH| 100,000& 13| 100
Ox=ZE AdotdEAY| 1,100,000& x 13l 1,100
ORSMsHE 2| 100,000& «5& 500
OFMSHH sZI| =2
150,000& x12& 1,800
ORSFMsHEH SINLRES
700,000& x23] 1,400
ORSMsHEH RASESS 40,0003 x12& 480
OSSAUSME 2L BA HIB
250,000 »2CH 500
od =4l 172,800
O#=g9% 4UZ(ER)
1,800 *8,000 £ x123 172,800
O A& EHIs Xl 20,715
OZsM=sdEH ASHXHl  1,01723,800m 3,865
OsUSHE 2Uel M|
1,500, 0003 *2CH 3,000
OSSHSUE JHANLRNZILZS 11,100
—49F HAI SXBA 800,000 <2CH 1,600
—2Y3 sXEs 1,500,000 *2CH 3,000
o4 Y WAHQH BIZE DN
500, 0002 *6CH 3,000
—2=SEHI W 500, 000& *5CH 2,500
—HH2tEE WX 200, 000& 54 2~ 1,000
QA7 RANE= 500, 0003 »2H A~ 1,000
OFMsHEH HIIANE SA 1,250
— &2 (36W) 90,0003 *55+ A 450
— B S (60W) 30,0003 »58 A 150
—CH22t0l E(13W) 30,0003 »58f A 150
—0tduE 50,000& * 1094 500
O3HE ZH(1,000W)Al & 50,0003 104 500
2 ANSHEH A A 2e| 309,900 14,900 295,000
206 M= Hl 14,900 14,900 0
01 M=z 4l 14,900 14,900 0
o3 249 435 +¢ 550,000& x55 x4 3] 11,000
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SN 252D
o HSNS
o9l SHUSUE 2 (S92
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
0+ ZE A 1,300,0002! *33] 3,900
307 212t0H 10,000 0 10,000
05 912t9IEr3 10,000 0 10,000
OSSHUSUEH UEHL U FATA
500, 0002 *43] 10,000
401 AIZHIL 2 CH] 283,000 0 283,000
01 Al 283,000 0 283,000
O4+YY =SEI DUZA 12,000,0002 *14! 12,000
o2y £X L NSHLSYI DHTA
25,000,002 * 144 25,000
O+YH CCTVEXIZA 15,000, 00024 14! 15,000
O+ TYAE DHBA
19,000,002 14} 19,000
O+ AT SHYLBA 30,000, 0008 * 144 30,000
OFHZA +4(2129%)  25,000,0008 *14! 25,000
O+YT P34 BIIFI LATM
57,000,008 * 141 57,000
0T SHAL DB
100,000, 0002 * 14} 100,000
405 XH&HE SH 2,000 0 2,000
01 RAUSEHSH| 2,000 0 2,000
ORMRE EFI| 7Y 500, 00021 #14] 500
02222 7Y 1,500,008 * 144 1,500
23 3,551,799 4,285,790 A733,991
2 1,106,702
= 800,029
2 1,645,068
SR H N F| 2,877,000 3,635,960 758,960
2 1,076,000
= 793,450
, 2 1,007,550
2B SRS 1,720,000 2,723,960 1,003,960
2 1,076,000
= 292,600
2 351,400
401 AIZHIL 2O 1,720,000 2,703,960 983,960
2 1,076,000
= 292,600
2 351,400
01 Al 1,715,000 2,689,960 974,960
ONHSASDER FHIAY 100,000
2 70,000
= 10,500
2 19,500
ODHUMEIDER FHIAL 200,000
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A Sot2t2
ZH: 23
&t 2R HAMAZZHI (el &)
_ _ _ N E
SN B SRA(SIH) - MBAY - BAS 0l & 24 o HRE2
O& A& AHI 10,000
= 7,000
L= 1,050
i 1,950
OAl£H] 190,000
= 133,000
& 19,950
= 37,050
OndssO =S E MY 100,000
O A& 4,888
= 2,444
= 855
= 1,589
OAl&H| 95,112
= 47,556
L= 16,645
i 30,911
ONHEHeISEL ML= AT EHHIALY
EX0H 300,000
= 210,000
L= 31,500
= 58,500
OAJIOFRSEAI2AE 795,000
= 497,500
& 174,125
= 123,375
Ondsts0ts A S HHIAY 20,000
O A& 1,530
= 765
< 268
= 497
OAl&H| 18,470
= 5,235
L= 1,832
= 11,403
O UEsNs2 HE 200,000
= 100,000
& 35,000
= 65,000
03 AIZ=20bl 5,000 14,000 29,000
OAJIFRSEAI2AE 5,000
= 2,500
= 875
= 1,625
EXNEE2STHESAS 742,000 650,000 92,000
& 500,850
i 241,150
207 HFINEHI 130,000 0 130,000
& 87,750
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2A: Bat2tZ
= 2o
&2l SR HAMAHEEHI (9 E2
2. HM . Cle NEAY . B2 Al OH HEE Hl =2+
= 42,250
01 =4l 130,000 0 130,000
OnH&sHe SBYEE F| 100,000
& 67,500
= 32,500
OZEM HHEH JIEtALY 30,000
& 20,250
= 9,750
401 AIEHIZ 20 612,000 650,000 A 38,000
& 413,100
= 198,900
01 Al&H| 612,000 648,600 A 36,600
OHNF AL EHIAY 200,000
OaAEA 7,490
= 5,056
= 2,434
OAl&H| 192,510
& 129,944
= 62,566
OSSN FHIAM(EXIONY) 150,000
& 101,250
= 48,750
ONE=SEAMLIATHIAL 90,000
O&AMEA 4,430
& 2,990
= 1,440
OAl&H| 85,570
& 57,760
= 27,810
ONESASHSHUIML (EXINY) 150,000
& 101,250
= 48,750
O=ELUH(EXNY) 22,000
= 14,850
= 7,150
=M E=F| 415,000 262,000 153,000
101 Q12| 3,000 0 3,000
04 JIZHMIZZ2XEE 3,000 0 3,000
OXNZE HIXNEZaHEHIALLS 3,000
o&el, B eg2d 100, 000& *30 3,000
401 AIEHIZ 2O 412,000 262,000 150,000
01 Al&HI 410,000 260,000 150,000
O=<cl HEZHAS 30,000
OX&E . HXE 23 EHIA 300,000
OaAEA 4,888
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A
I‘IiH:
C}—Ol:

M- ®=Z . Che (5 NEAY . B2 Al OH HEE Hl =2+
OAl&H| 95,112
OEXH 200,000
OASHIEAX HEA FHIALS 60,000
OHETELAE RSl EUIAE 20,000
03 AI&=2UI 2,000 2,000 0
O=sMHE+=EHI 2,000
2o B& 353,800 433,540 AT9,740
FEEIMHLES WA 51,800 30,540 21,260
307 212t01& 51,800 30,540 21,260
02 QItAAE X 51,800 30,540 21,260
Ondgw 22 29 XA
33,0003 1 *200 6,600
ORYERIMEF+UNERA(DE22UH, V8=R)
22|23 33,0003 2% 200 13,200
ORE2FNMELUEA(NHZU, I8=R)
2N (3322 S) 500,0002 24 A +12& 12,000
Ol dsus T2 23 XA 20,000
23 HAI& AL 302,000 403,000 A 101,000
401 AEHIZ2OHb] 302,000 203,000 99,000
01 Al&t| 300,000 200,000 100,000
OnEFUduE2=H EX0MS 300,000
03 A& 01l 2,000 3,000 A 1,000
ONdUMTNs2TH EXMHYUH OHE
=N ]l 2,000
=St e 107,710 108,690 A980
= 30,702
& 6,579
= 70,429
Stz 49,090 29,920 19,170
101 14| 14,850 6,180 8,670
04 JIZtMZ22RSE+ 14,850 6,180 8,670
ON=XES ZatMzel o2
,0002 10 #1524 33| 14,850
201 LBt 21,240 13,140 8,100
01 AtSR2t2ldl 17,580 9,720 7,860
OgBt=EZH| 7,500
O2stM7g2e], S5st&Es A28 & 7
2 150, 0003 *5I A= x6& 4,500
O23tMYIXl HIZ(A8018) 7
30,0003 *50JH x23] 3,000
ozg+¢ 10,080
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fA: St
= 2|
o2l E3i el
_ _ _ Muo
SA - EE L SR(E) - MRAY - HAS Abod i
O2sMAEXNE2=E
70,000 »4H «33| « 128 10,080
02 2223H| 3,660
0323z ¥ 1,160
OS2 M2 (SEA BN AE)MI 2
80,000& 128 960
O=2s M+ SS5t&EA Holx=HE
200,000 =13 200
O A4 EH|I= Xl 2,500
O3=stdEa L THEXAIAEAZE R 2,500
203 HRF&H| 1,000
03 AIMFXAHR &L 1,000
OFstM2elgR2=a 20,0003 x10H x53] 1,000
301 EtEA = 12,000
12 JIEtE43 12,000
O THTRAl By
100, 000& 1000 A+ 123 12,000
oS E 22 ALY 58,620
= 30,702
& 6,579
= 21,339
101 Q14| 51,120
= 25,452
= 5,454
= 20,214
04 JI2tHIZ2E2NEE S 51,120
OZstMEE 222l At 51,120
= 25,452
= 5,454
= 20,214
201 Let2d| 7,500
= 5,250
& 1,125
= 1,125
01 AbR22lH| 7,500
OFsMEE 2L A2F 7Y 7,500
= 5,250
& 1,125
i 1,125
gusa 29 130,569
gesa 2 130,569
101 ol24d 30,169
04 J|12tHIZ22 30,169
Oge=2 Al cl eIfdy 30,169
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SA: 23TBY
Hu: 28
&2l AII0IRSEAZ 2 (9 E2
A BB O(B) - NEAY - BAS Of o e Hl R =2
2P A2 23 82,720 0 82,720
101 14| 11,880 0 11,880
04 JIZtMZ22XSE+ 11,880 0 11,880
OANIIOIREXAIZ HA0EY
33,0003 »2H 180 11,880
201 L2y 33,840 0
01 AFR 22l 5,120 0
O ger=ZH| 5,120
OsAMsI 2 20,0003 x 3= A x12& 720
OElH 7¢ 300,000& =33l 900
OZcZgy tECXN 7
2,000,000 *12] 2,000
OZet=Zegyd 23 7 500,000& *33l 1,500
02 =234l 28,720 0
o0=232z= ¥ HA 16,800
OLIFRS A2 & otk AIEZE
100,000& x12& 1,200
OL2I0FRSHAIZ MRS
1,300,000& x123 15,600
OA & &I Xl 11,920
Osd)| &2 160,000& x12& 1,920
O&IItdEE=Z 300,000& x12& 3,600
OLdtEE =52 2,000,000& *22| 4,000
ORI HIAIAE 22|l 200,000& = 12& 2,400
405 THaHzE S| 37,000 0
01 XL SEFHSHI 37,000 0
OLJOFRSEAIZ HIZE 37,000
OAIR4A & 3|ojal Mat 200, 000& *50H 10,000
Ozod = AKX 100, 0002 100K 10,000
OSs8AE 3,000,000 * 14 3,000
Oogle 2 200, 0003 *57H4 1,000
oz =H 1,500, 000 *2CH 3,000
O=glg(2et) 3,000,000 =14 3,000
OS A 4,000, 0002 =14 4,000
O29HH(A3) 3,000,000& *1CH 3,000
HE 2L Z I 132,025 102,575
olFA2AH(25H 22Dt 4,200 4,200
Qe Ay 4,200 4,200 0
Q=& 4,200 4,200 0
FA2I LRI 4,200 4,200 0
OFRNSIZIRFAHI 350,000& = 12& 4,200
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SN 22D
HH: HHSH Y|
el D=L (2322 D) (el &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O] Ak 4 il b o B2
=Y (22D 127,825 98,375 29,450
sty 32,000 27,900 4,100
201 L2y 31,000 27,900 3,100
01 At 2ty 30,600 27,500 3,100
CHEE==1H 15,600
LV EL-PIERS-T:] 9,600
OzeolzgE JET 7Y
{,500,0002 23] 3,000
Ozetzaly 23 2 500, 00021 *63] 3,000
CEREI 15,000
LV LB T 15,000
02 IZ2Y| 400 400 0
02222 2 AA 400
ORANSYI=222R2 400
405 THAHE SH) 1,000 0 1,000
01 RAUSEH S| 1,000 0 1,000
ONSA 2HHEI| 2 1,000
01| 95,825 70,475 25,350
202 OiH| 95,825 70,475 25,350
01 =UhoiH| 95,825 70,475 25,350
©I|2 24801t 200, 0002 *238 *122 55,200
CEINEFI L 65, 0002 *252 *253] 40,625
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